
12-27-2024

(Discontinued) Clik One Arm Drive Hex Style 

One Arm Drive Kits do not include rear tires
 

Item Number Part Number Description Quantity

10c 003198 One Arm Drive Handrim Aluminum 24" 1

11a 101897 Handrim Aluminum Anodized 5 Rivet Nut 20" 1

11b 101898 Handrim Aluminum Anodized 5 Rivet Nut 22" 1

13a 003209 One Arm Drive Rogue/Clik Axle Mount 2 Degree
Camber, PAIR 1

13b 003210 One Arm Drive Rogue/Clik Axle Mount 4 Degree
Camber Each 1

14 101734 M5 x 35 SHCS BLK ZC 8

15 100657 M5 Nylock Nut Blk Zn 8

16 101717 M5 x 25 SHCS BLK ZC 4

18 100682 Washer 1/2" .518 x .875 x .047 F/W Black Zinc 3

20 003366 One Arm Drive Tower Clamp, Outboard Mount,
Clik 2

21a 003368 One Arm Drive Camber Tube 10" Kit, Clik 1

21b 003369 One Arm Drive Camber Tube 11" Kit, Clik /
Rogue XP 1

21c 003370 One Arm Drive Camber Tube 12" Kit, Clik /
Rogue / Rogue XP 1



12-27-2024

Item Number Part Number Description Quantity

21d 003371 One Arm Drive Camber Tube 13" Kit, Clik /
Rogue / Rogue XP 1

21e 003372 One Arm Drive Camber Tube 14" Kit, Clik /
Rogue / Rogue XP 1

21f 003373 One Arm Drive Camber Tube 15" Kit, Clik /
Rogue / Rogue XP 1

21g 003374 One Arm Drive Camber Tube 16" Kit, Clik /
Rogue / Rogue XP 1

21h 003708 One Arm Drive Camber Tube 17" Kit, Clik /
Rogue / Rogue XP 1

21i 003709 One Arm Drive Camber Tube 18" Kit, Clik /
Rogue / Rogue XP 1

23 100532 Tube End Plug 1 1/8" 2

24 102614 M5 Split Lock Washer BLK ZC 4

25 103056 M5 Cap Nut Black Zinc 4


